p=3, x=4, y=3, z=7, MPS=z/2=49, PN=xz=4+7=28, OC=yz=37=2], xA2=16, yA2=9, 4MPS=4+49=196, 8PN=828=224
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288325364
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144 | 69 51156/189224261300
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180217256
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60193 128165204
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224221216209200189176161144125104 81|56 |29 225 31 64 99 136175
2552522472402312202071192175156/135112/ 87 60 31 256 33 68 105144
288285280273(264253240225120

|k ek pd  d ek

32332031530829928827526024 03180155128 99 68 35 324 37 76

8189|168 145120 93 | 64 33 289 35 72 111

19360357352345336325312297280261240217192165136105 72 37 361 39

20399396391384375364351336319300279256231204175144 111 76 39 400

All 4 Layers combined



All 4 Layers combined


